
ID.  PART DESCRIPTION QTY. REF.:

1 Rear mudguard 1 REF.9761

2 Iron 1 SOPORT97-1-0097

3 M6x15 DIN1001 screw (BLACK) 4 TORNI-I7380-403

4 M8 Nylon washer 1 ARNV00000000265

5 M6 caged nut 1 TUERCAJFM6--319

6 M6 DIN1001 plastic cap 3 TAPON--------86

7 Silentblock rubber 3 SILENBGONE--064

8 Metallic spacer 3 CASQUI-----0046

BMW F750/850 GS ’18

  REF 9761  R E A R  M U D G U A R D

1 Person

1 hour

INTERMEDIATE



BMW F750/850 GS ’18

-  M O U N T I N G  I N S T R U C T I O N S

1 2

3 4
ASSEMBLYASSEMBLY

DISASSEMBLY ASSEMBLY

Original partA

 NOT COMPATIBLE WITH OFF-ROAD PNEUMATICS

6

A

7

Shock absorber cover
3

5

3

8

7

8 3 6

4



ID.  PART DESCRIPTION QTY. REF.:

1 Rear mudguard 1 20419

2 Iron 1 SOPORT97-1-0097

3 Plastic river 1 ----

4 M6x15 DIN1001 screw (BLACK) 4 TORNI-I7380-403

5 M6 caged nut 1 TUERCAJFM6--319

6 M6 DIN1001 plastic cap 3 TAPON--------86

7 Silentblock rubber 3 SILENBGONE--064

8 Metallic spacer 3 CASQUI-----0046

9 M8 Nylon washer 1 ARNV00000000265

Accessory verified in the basic configuration of the motorcycle. For models with extra factory settings. We cannot assure its compatibility, except for prior      
consultation. We decline any eventual claim.

BMW F900R / F900XR ’20
BMW F750 / F850 GS ’ 18

REF 20419  R E A R  M U D G U A R D

1 Person

1 hour

INTERMEDIATE



Original partA

BMW F900R / F900XR ’20
BMW F750 / F850 GS ’ 18

 M O U N T I N G  I N S T R U C T I O N S  REF  20419

1

2 3
ASSEMBLY

DISASSEMBLY

DISASSEMBLY

M O U N T I N G  I N S T R U C T I O N S  FO R  B M W  F 9 0 0 R /F 9 0 0X R  ’ 2 0 

Conjunto Estribera /
Footpeg set

A

A

2

A

A

5

4



BMW F900R / F900XR ’20
BMW F750 / F850 GS ’ 18

 M O U N T I N G  I N S T R U C T I O N SREF  20419

4 5

6
ASSEMBLY

ASSEMBLYASSEMBLY

 Tightening torque

1. 8 Nm (No disassembly required)
2. 19 Nm
3. 38 Nm
4. 28 Nm
5. 100 Nm

6

3

7 8 4 6

6

4

8

7

4

8

7

1

1

Conjunto Estribera /
Footpeg set

4 4

5
1

12

3
3

3



Original partA

1 2

3 4
ASSEMBLYASSEMBLY

DISASSEMBLY ASSEMBLY

6

A

7

Tapa amortiguador /
Shock absorber cover 4

2

4

8

7

8 4 6

9

BMW F900R / F900XR ’20
BMW F750 / F850 GS ’ 18

 M O U N T I N G  I N S T R U C T I O N S  REF  20419

M O U N T I N G  I N S T R U C T I O N S  FO R  B M W  F 7 5 0/F 8 5 0  G S  ’ 1 8 

1 1

Rely on premium motorcycle frames & body by Puig if you’re looking for quality and efficiency.

https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/frame-body.html

